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Name: 

Daily Word Problem

E-106

Peanut Butter Cookies

   cup flour

   cup butter

1 cup peanut butter

   cup brown sugar

   cup sugar

1 tsp vanilla extract

1 egg

   tsp baking powder3
4

1
2

1
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1
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Peanut Butter Cookies

______ cups flour

______ cups butter

______ cups peanut butter

______ cups brown sugar

______ cups sugar

______ tsp vanilla extract

______ eggs

______ tsp baking powder

Wanda is making cookies to take to a party. The recipe she 
wants to use makes one dozen cookies and she needs to make 
three dozen. Rewrite the recipe with each ingredient tripled.

Measurements may be fractions, mixed numbers, or whole numbers.Show your work.
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Name: E-107

Carson has a rectangular rose garden with an area of 15.96 
square meters. The length of the garden is 4 meters. What is 
the width, in meters, of the garden?

Show your work.

answer: ____________________



Daily Word Problem
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Name: E-108

________________________

How long, in minutes, does it 
take Emmanuel to finish his 
homework?

________________________

How many seconds does it 
take Emmanuel to finish his 
homework?

Show your work.

Emmanuel completes his homework in 1 hour and 23 minutes.



Daily Word Problem
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Name: 

Zaharee is comparing the lengths of two caterpillars she 
found in her backyard. The yellow caterpillar is 3/8 of an 
inch long and the green caterpillar is 2/3 of an inch long. 
How much longer, in inches, is the green caterpillar than the 
yellow caterpillar?

Show your work.

answer: ____________________

E-109

3
82

3



Daily Word Problem
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Name: E-110

Myron is building a sandbox for his little brother. The sandbox 
is 60 inches long, 60 inches wide, and 8.5 inches tall. What is 
the volume, in cubic inches, of the sandbox?

Show your work.

answer: ____________________



Daily Word Problem

ANSWERSE-106 through E-110
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Myron is building a sandbox for his little brother. The 
sandbox is 60 inches long, 60 inches wide, and 8.5 inches 
tall. What is the volume, in cubic inches, of the sandbox?

Show your work.

answer: ____________________

Zaharee is comparing the lengths of two caterpillars she 
found in her backyard. The yellow caterpillar is 3/8 of an 
inch long and the green caterpillar is 2/3 of an inch long. 
How much longer, in inches, is the green caterpillar than 
the yellow caterpillar?

Show your work.

answer: ____________________

3
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3

________________________

How long, in minutes, does it 
take Emmanuel to finish his 
homework?

________________________

How many seconds does it 
take Emmanuel to finish his 
homework?

Show your work.

Emmanuel completes his homework in 1 hour and 23 minutes.Carson has a rectangular rose garden with an area of 
15.96 square meters. The length of the garden is 4 meters. 
What is the width, in meters, of the garden?

Show your work.

answer: ____________________

Peanut Butter Cookies
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Peanut Butter Cookies

______ cups flour

______ cups butter

______ cups peanut butter

______ cups brown sugar

______ cups sugar

______ tsp vanilla extract

______ eggs

______ tsp baking powder

Wanda is making cookies to take to a party. The recipe she 
wants to use makes one dozen cookies and she needs to make 
three dozen. Rewrite the recipe with each ingredient tripled.

Measurements may be fractions, mixed numbers, or whole numbers.Show your work.
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